BASIC POSTULATES

1.  SCARCITY

2.  SUBSTITUTION

3.  DIMINISHING MARGINAL VALUE

4.  WILL CHOOSE THE MOST PREFERRED OPTION

IMPLICATION - GAINS FROM TRADE AVAILABLE 

IF DIFFERENT INDIVIDUALS HAVE DIFFERENT MARGINAL VALUES

SOCIETY REDUCES THE COSTS OF TRADING THROUGH


GOVERNMENT


MIDDLEMEN


MONEY

IMPLIES AN INDIFFERENCE SCHEDULE BETWEEN A GOOD AND $ 

$ - REPRESENTS ALL OTHER GOODS

ILLUSTRATIONS OF THE LAW OF DEMAND

1.  CHRIS WENT TO THE PUYALLUP FAIR TO RIDE THE ROLLER COASTER.

ADMISSION WAS $5

RIDES 


     $.50 EACH

CHRIS CHOOSE TO GO ON 10 ROLLER COASTER RIDES.

A.  IF ADMISSION HAD BEEN FREE BUT EACH RIDE COST $1, WOULD YOU PREDICT CHRIS WOULD HAVE CHOSEN THE SAME NUMBER, MORE OR LESS RIDES?

B.  WHICH OF THE TWO PRICING SCHEMES DO YOU THINK CHRIS WOULD PREFER?


1.  $5 ADMISSION, 50 CENT RIDES.


2.  FREE ADMISSION, $1 RIDES.


2.  AS A YOUNG VISITOR TO SPAIN, I BOUGHT MANY PAIR OF INEXPENSIVE SANDALS THAT I BROUGHT BACK HOME.  AS THE SANDALS WORE OUT, I LOOKED TO REPLACE THEM AT THE LOCAL SHOE STORES.  TO MY DISMAY, NONE OF THE LOWER PRICED SPANISH SANDALS WERE AVAILABLE.  ONLY THE RELATIVELY MORE EXPENSIVE PAIRS WERE IMPORTED TO THE USA.

EXPLAIN HOW A TARIFF PER PAIR OF SANDALS AND THE LAW OF DEMAND MIGHT LIE BEHIND THE ABSENCE OF THE CHEAP SANDALS AT MY FAVORITE SHOE STORES.

3.  The President of the University of Washington has been lobbying for significant raises for the faculty in the upcoming state budget.  As part of his efforts, he has pointed out that the faculty raises for the last five years have not even kept up with the rate of inflation and therefore that the faculty on average is worse off financially than they were in 1996.

IS THE FACULTY WORSE OFF?



CALCULATION OF RATE OF INFLATION

1.  SURVEY TYPICAL CONSUMER’S PURCHASES IN BASE YEAR (E.G. 2000)




GASOLINE
FOOD
HOUSING

PRICE


$1

  $1


$1

QUANTITY

50

  50


200

COST


$50

 $50


$200

TOTAL EXPENDITURE FOR 2000 GOODS AT 2000 PRICES =







$300

2.  SURVEY PRICES IN SUBSEQUENT YEARS (E.G. 2001)




GASOLINE
FOOD
HOUSING

PRICE (2001)
     $1.20
         $.80

$1.10

COST OF 2000
QUANTITY

$60

  $40

$220
TOTAL EXPENDITURE FOR BASE GOODS AT 2001 PRICES =







$320

INFLATION RATE = PERCENTAGE INCREASE IN COST 




OF BASE GOODS 





     = 6.67%  = (20/300) 


4.  THE SMITHS ARE DAIRY FARMERS.  THEY HAVE BEEN RECEIVING $1 PER GALLON FROM DARIGOLD FOR THEIR MILK.

THE SMITHS HAVE BEEN CONSUMING 10 GALLONS OF MILK PER WEEK.

AS A RESULT OF “NAFTA” (THE NORTH AMERICAN FREE TRADE AGREEMENT) AND THE INCREASED TRADING OPPORTUNITIES, DARIGOLD IS NOW PAYING THE SMITHS $2 PER GALLON OF MILK.

DOES THE LAW OF DEMAND PREDICT THE SMITHS WILL REDUCE THEIR QUANTITY DEMANDED (CONSUMED) OF MILK?
